6.2.1 Configuring Basic OSPF in a Single Area

What are the two steps to configure the basic OSPF?

What is the command of the first step for enabling OSPF?

What is the process ID number?

What is the command of the second step for advertising networks?

What is the function of the network command?

What does the OSPF network command use and what does it do?

What does the area ID identify?

If there are no areas specified, what will be the area number?

What will be the area number in a single-area OSPF environment?

Look at the configuration on the right.

6.2.1 (2)

What does the OSPF network statement require?

What is the wildcard mask when used for network summarization, or supernet;ting?

Give an example of a wildcard and its command.

Look at the figure on the right.

6.2.1 (3)

Do the activity on the page.

6.2.2 Configuring OSPF Authentication

How does the default configuration of OSPF exchange information between neighbors?

What potential problem does this pose?

How to eliminate this potential problem?

What is the simple password authentication and what does it provide?

What is a more secure method of authentication and what does it require?

Look at the figure on the right.

6.2.2 (2)

6.2.3 Turning OSPF Parameters

Why do administrators need to modify, or tune, certain OSPF parameters?

How does the router select the DR and what are the sequences?

Click and play the multimedia on the right.

6.2.3 (3)

Why is bandwidth is often required to be modified?

What is the default bandwidth value on most serial interfaces?

What is the factional T1 and what will be issue related to it?

When a serial interface is not actually operating at the default T1 speed, what should be done?

What is the command in OSPF to modify using the bandwidth interface?

What does the bandwidth command do?

The figure on the right is important.

6.2.3 (4)

What is reference bandwidth and what is it used for?

What will be the potential problem related to reference bandwidth?

How to obtain more accurate cost calculations?

What is the command to modify reference bandwidth?

When this command is necessary, why should it be used on all routers?

6.2.3 (5)

6.2.4 Verifying OSPF Operation

What is show ip ospf neighbor command used for?

If the router ID of the neighboring router is not displayed, or if it does not show a state of FULL, what does that mean about the two routers?

What conditions exist, when two routers may not form an OSPF adjacency?

Take a look at the chart on the right.

6.2.4 (2)

What does show ip protocols display?

What does show ip ospf display?

What does show ip ospf interface display?

What does show ip route verify?

6.2.4 (3)

Do the activity on the page.

6.3.1 Configuring and Propagating a Default Route

What does OSPF provide within an AS?

What must OSPF also provide outside of the AS?

Why do administrators sometimes configure static routes on certain routers?

What is ASBR and what is it used for?

6.3.1 (2)

What are the two steps to configure a router to distribute a default route into the OSPF network?

What is the command to configure the ASBR with a default route?

What is the command to configure the ASBR to propagate the default route to other routers?

Study multimedia chart on the right.

6.3.1 (3)

6.3.2 Configuring OSPF Summarization

What is route summarization?

To facilitate OSPF summarization, what should be done?

What is the advantage to group together IP addresses in a network area?

What is flapping?

By default, what happens every time a route flaps?

When a router is using a summary route, what does it use?

What is the command to configure an OSPF ABR router to summarize these networks to another OSPF area?

Study the figure on the right.

6.3.2 (2)

6.3.3  OSPF Issues and Limitations

What are the advantages of OSPF?

What are the disadvantages of OSPF?

How to avoid excessive use of router resources?

Why is it important to have a good understanding of the OSPF technology?

What impact does flooding have on large networks?

6.3.4 Using Multiple Protocols in the Enterprise

For what reasons might organizations choose different routing protocols?

When multiple routing protocols exist on a single router, how will be the router learning of a destination?

Understand the figure on the right.

6.3.4 (2)

When a router learns of a single network from multiple sources, what does it do to determine which route it prefers?

Which AD is more desirable: lower or higher?

Look at the chart on the right.

6.3.4 (3)

Do the activity on the page.

6.3.4 (4)

If two networks have the same base address and subnet mask, how does a router view them?

Use an example to explain how a router chooses a route?

Study and understand the charts on the right.

6.3.4 (5)

Do the activity on the page.

6.4.1 Summary

Study the summary.

6.4.2 Critical Thinking

Do the activity on the page.

6.5.1 Quiz

Do the quiz on the page.

